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1. 1oJlm5t:tJ4kf*, ~flkf$t1l1:flll.~~ml?J:J.r.!!~mt!l}\f!ffi:J:T¥fl:rt1.i!rfoJ? (20%) 

2. ~~8JJ~41t.~8'JI*J5ilir o (10%) ... 
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4. ic~IV:h~ct=r · §~J;)j£$1JfflA~BJJ?$~&~-~1Z&:B!Z~$~&:B!to/JZ5!1!f~m1*? (10%) 

5. §~fUffl7fUkf$(Henry's Law)~8j_J_&fg~~~:l~ftL.5§m&? (10%) 

6. {OJ§~fEJ!-!.~5.§5&W Raoult's kf:f · ;ttmmf~§&foJ? (10%) 

7. g~:jt{(5 n ~4:flll.r.!"!*"ll:frfi=UliJlT , &:h §PI~~~ PzB~Z§ EB~~(DG)B''J~{c 0 (ffilJJ;J Q 'w' p 'v' R' T' 

S , E, H, G ~~j]~*IQ::Jt{f5_&:?RJ'R) o (20%) 

8. EI3Efl , ji,WZJ%Z~m~§t:f'fTJ"U&:ff!t:~:t(l)ZDH298 o (10%) 

( 1) 2C(graphite )+ 3 Hz(g)=C2H6(g) 

(2) C(graphite)+02(g)==C02(g) 

(3) H2cg)+ l/20zcgJ==Hz0(1) 

( 4) C zH6(g)+ 7/202(g)==2C02(g)+ 31-hOcll 

DHz9s = -94,050 cal 

DH298 = -68,320 cal 

DH298 = -372,820 cal 


